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D.1

Answer: B

o Watch Video Solution

2.2 + |z — 3> + |z — i|* I8 2@ LA -9 FIA

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_UlwxNWdJ3Vi2
https://dl.doubtnut.com/l/_Tr40qbJCe5CJ

%2 +1) =<1
3. f(z) = (22% +1) 2 <1 oot atet ot ffoodx limit 0
43 — 1 z>1

to 2

A.47/3
B.50/3
C.1/3

D.47/2

Answer: A

° Watch Video Solution

dx
4./ s dz
(asinz + bcos )

tan( & + ¢ ‘1(3) +
an 9 za-n b C

1
A ———log

va? + b2


https://dl.doubtnut.com/l/_Xx1jLnGGWVMT
https://dl.doubtnut.com/l/_5KmMMpKgpfni

1

B'_a(atana:—i—b) e

R o ltan_l(g>’ .
JEZ IR 122 b

D. ! +c

a(atanz + b)

Answer: B

o Watch Video Solution

5.log;g; log7(\/:13 + 7+ \/5) — 0 TG I T 2

A3
B.7
C.9

D. 49


https://dl.doubtnut.com/l/_5KmMMpKgpfni
https://dl.doubtnut.com/l/_NVtsR7gmhvQh

Answer: C

o Watch Video Solution

6. ‘(1+x"2)frac[dy][dx]+y=e”(tan”-1x) 92 WBIDA B RIGERITE
THIPeT B9P (integrating factor) 21
Atan 'z

B.1—|—:c2

-1
C. etan x

D.log, (1 + w2)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NVtsR7gmhvQh
https://dl.doubtnut.com/l/_0PCYCcoRXiLr
https://dl.doubtnut.com/l/_oBeaSRhcuqkH

B.3

C.1

D. 2

Answer: D

o Watch Video Solution

8. 2031 >1euTif5a WIS 1T (6m3 log,, 2 = 0.3010) 2T


https://dl.doubtnut.com/l/_oBeaSRhcuqkH
https://dl.doubtnut.com/l/_TRDLZ96oEj4d

A. 602

B. 301

C.392

D. 391

Answer: C

o Watch Video Solution

9.y = 2% AR z = ¢y’ IGEYFY TR MTRGE CFHalod CHaD
3]

A1/3

B.1/2

C.1/4



https://dl.doubtnut.com/l/_TRDLZ96oEj4d
https://dl.doubtnut.com/l/_Qt8bs0tX6f7M

D.3

Answer: A

° Watch Video Solution

10. 41 TS R IBI AT G0 daR f:R - R @A

flz) =3z +1|otza f (1 6) Bz

SR
(Vi)

Answer:



https://dl.doubtnut.com/l/_Qt8bs0tX6f7M
https://dl.doubtnut.com/l/_sxXd6zLITZCg

| § SVOILLIL VIVGY DSUIVLINIL J)

2 4
11.tan% + 2tan% + 4 cot % 97 7 2

A tﬂ
.cot —
5

Answer: A

° Watch Video Solution

12. 41 TP, [2,7] TBAIE f(x) 9BO ATIIPAN (IS BIHATH D |

I (2,7) WA TS x-99 AT G f/ (2) < 5 QR £(2)=3

3%, ©f 2T x=7 [0 f(x) -9 ST SIHTS JIH 2T


https://dl.doubtnut.com/l/_sxXd6zLITZCg
https://dl.doubtnut.com/l/_5tz0ArDKvB7y
https://dl.doubtnut.com/l/_CEdOmIivMB4H

A7

Answer: C

o Watch Video Solution

13. 441 TIPB, A 932 B CTDFL GAMITAS 51T IS p AR q |

©lateT A 76 (ATP B O A HeYTT 2@

A 2P T4

B. 2P4

C. ptq


https://dl.doubtnut.com/l/_CEdOmIivMB4H
https://dl.doubtnut.com/l/_7ygNjTMZJJl9

D. pq

Answer:

° Watch Video Solution

14. ABC 9316 fag® | pg(z” + 1) = r’z TP tanA 932

tanB TG IS | O 2eT ABC 936

A TEEIT fages

B. SRR fagst

C. BT fags

D. 41e fags

Answer: A

| o Watch Video Solution


https://dl.doubtnut.com/l/_7ygNjTMZJJl9
https://dl.doubtnut.com/l/_jZFRStA5Q9mX

15. My = 4z + 3 KA y? = 122 AfRad @A =P

I 2, ©f 2 @ g QUIT ST Slfeay (AP dnia

NIeT(QTT dg *eT

213
A [—

VT

219
B. ——

V1T

211
C.——

V17

210
D. ——

V1T

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jZFRStA5Q9mX
https://dl.doubtnut.com/l/_KvptAA9VzoTV

2 2
16.WW%+Z—5=135%@W& NPT | Of T @

@ @7 (0,+/2) a3 T Jafd 82 Toed AIfCnITsidl, Ofd
I 257 93

A9

B.7

C. 11

D.5

Answer: A

° Watch Video Solution

7.2 +y=0,5z +y =4 932 2 + by = 4 AL gi1

OIk% GHafb 2ot


https://dl.doubtnut.com/l/_FvajU0V8vnLZ
https://dl.doubtnut.com/l/_6WhteTTYtoNA

A. Tafd1e faga
B. Tadie fagat
C. lkgaare fags

D. I fags

Answer: A

o Watch Video Solution

18. 9 sin ' - + cos ec_IE _ I 2™, ©(d x-99 T 2
13 12 2
A5
B.4
C.12

D. 12


https://dl.doubtnut.com/l/_6WhteTTYtoNA
https://dl.doubtnut.com/l/_g3UaGFtMeL1T

Answer: A

o Watch Video Solution

19. A -d Q) G [CIa
(7z +5)% + (Ty + 3)° = X2(4x + 3y — 24)° SEAGHIID

WIf4q3 2(Q, ©f 2eT

noow >
S

O
H_
g~ g~ o oo

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_g3UaGFtMeL1T
https://dl.doubtnut.com/l/_CrmbFLmRbKjQ

1
20. 991 AP f(z) = = + 5 | ©f 2T x-99 JoBfeT IV JHT
AT f(x),f(2x),f(4x) 2dMarB g5ifo (H.P) (@ YIBE, 6 77
A1l
B.O
C.3

D. 2

Answer:

° Watch Video Solution

21. 931 D f(x) = 22 + 5z + 1 | IBI YT ab,c I T

flz) =a(z+1)(xz —2) + bz —2)(z — 1) + c(xz — 1)(x + 1)


https://dl.doubtnut.com/l/_CrmbFLmRbKjQ
https://dl.doubtnut.com/l/_jwjONcYy0LyV
https://dl.doubtnut.com/l/_DzFawASTGmFX

A. a,b,c-d T 7eYTH FiA T2

B. a-d (PITATG QBI6 1A 932 b,c-d BPIY MUTP I 24

C. a,b,c- I TOT(HJ (PJeTdTa QD6 BE T T2

D. a,b,c-d STOTHI ABIYD fHF SN YT TiF T2

Answer:

o Watch Video Solution

22. M az® + bz + ¢ = 0(a # 0) TSI FoBfA o, f -
ade (pa:2 +gz+71=0)(p#0) TIPAId o

a + h, B+ h T, ©f 2T BIF NFFIPFID IS SATE

A.az:p


https://dl.doubtnut.com/l/_DzFawASTGmFX
https://dl.doubtnut.com/l/_xhqjawWSxw7T

D.a:2p

Answer: A

° Watch Video Solution

23, 431 AP, p,q o BT FUTt | AWM 22 + 3p’z + 5¢° = 0
MBI 9B TS o 9 22 + 9’z + 15¢ = 0 TABACIT
9P IS B (0 < a < B), ©f A& z® + 6p’z + 10¢> = 0

STIPAIT B0 IS vy [T XSO St g B ©f 21

Ay=a/4+p

B.B <7«


https://dl.doubtnut.com/l/_xhqjawWSxw7T
https://dl.doubtnut.com/l/_JyZcDTPzxkuL

Cy=a/2+p

D.a<y<p

Answer: D

© Watch video Solution

24, y® =8,/3x OfIJEd 4z’ —y® =4 FAIE 4ATGD

ATOIAIE YT =BT T 2eT
Ay =6z + /2
B.y = 6z — /2
C.y=+3z ++2

D.y = /3z — /2


https://dl.doubtnut.com/l/_JyZcDTPzxkuL
https://dl.doubtnut.com/l/_pYtEKONVhQ93

Answer: A

o Watch Video Solution

25. y? =64z OIIIEd TIF ©RAEO 4x +3y+35=0
STIAGLII HAETHT DI [ BT et

A. (9,-24)

B. (1,81)

C. (4,16)

D. (-9,-24)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_pYtEKONVhQ93
https://dl.doubtnut.com/l/_Obvcf5V4gv74
https://dl.doubtnut.com/l/_aTHqgoi5zTLb

26. 43T AP AT (Argand) BT TA TREO 2, 29 WO

A8 @fber Ut R z @ @A 9d6 g o

|z — 21| + |2 — 22| = |21 — 20| TNBINO@ PF IW | ©F A
z fqvQ SIBIF 9 3@

A. 9316 993

B. 2; Q3R 2o NTAIBIAT 9BIB STt

C. 931 Af4qa

D. 2; Q32 2, FTIISIBIA NAAEUT aB6 TAFLSH

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_aTHqgoi5zTLb

tan{ro — 7]}

2 + [z]”
Tt < ¢ A dW

27. f(z) =

A. x-a9 T I ST AT

B.m:%ﬁwﬁm

C. x- 49 PP TIAT ST AIBIDAA (15T AT

D. x=-2 Ao ego

Answer: A

WEHBI0, QU [x] SIS @Us

o Watch Video Solution

28. f(x) = asin|z| + be'®! THFBH  x=0

AIFIDAARISIT 2(d IYA


https://dl.doubtnut.com/l/_N2jJvAOsUFt7
https://dl.doubtnut.com/l/_U2JtWMocXH9X

Ada+b=0

B. 3a-b=0

C.a+b=0

D. a-b=0

Answer: C

° Watch Video Solution

13

1

20. IMm <am2+b—) B < S < o [ O A B 1 R
XL

<a:c — —) -3 B -z ~® a7 25t TFA 77, ©f 30T a 92

bx?
b @ =G g B ©f
Aab+1=0

B. ab=1


https://dl.doubtnut.com/l/_U2JtWMocXH9X
https://dl.doubtnut.com/l/_6pn0ii4BEKQq

C.a=1-b

D. a+b=-1

Answer:

° Watch Video Solution

2
30.3M I = / e”' (z — a)dz = 0, ol A q -97 T T TIE
0
AP ©f 2
A. (0,2)
B. (-1,0)
C.(2,3)

D. (-2,-1)


https://dl.doubtnut.com/l/_6pn0ii4BEKQq
https://dl.doubtnut.com/l/_jAwuZPzX3BLB

Answer: A

o Watch Video Solution

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jAwuZPzX3BLB
https://dl.doubtnut.com/l/_Q8SytDFZLC65

32. 43T TS f(x) = x + bz + ¢ = 0 TNDIUBd b JAP MBI

S «, B | y=f(x) It (a;ﬂ,f(a;ﬂ» favro

H @ ATl x-HAGEHI J(4T @I g

A.0°

B.30°

C.60°

D.90°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Q8SytDFZLC65
https://dl.doubtnut.com/l/_ccGEoM5Asazn

33. f(x) = z? + bx + ¢ WHEHH (function), U b 432 ¢

JIBJ $IP

<

A. 9516 @S f6ald (one-to-one mapping) fRAT B

B. 935 TAfAf6an (onto mapping) AT I&

C. 9tdd foad 77 &7 TAfafoard (not one-to-one but onto
mapping) N S

D. at&P foad at TAfafbad (@GR (neither one-to-one nor

onto mapping) AT S AT

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dUNcKWYoJMgN

34. n > 2 93o EREN] (integer),

cos(2m /n) sin(2w/n) 0
—sin(27 /n) cos(2r/n) 0| 9321347 3 x 3 9B TG
0 0 1

(identity matrix) | ©F CeT

AA" =TaR A" 1 £ 1
B. m ATaId PRt atet A™ # T
C. A fREIQEHIIISNT (invertible) FTIGET 77

D. (P17 9Bf6 ATard 1Y m 97 Gy A™ = 0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_gElDatQxxISu

35. 9 9P I IS AW | 919 S (T ©IF Igd 72 NI 93°

OId J(LT APSH WIF0 (20T | ITM 4@ @8I 2T (T (R WIAT

@@ SAIAIG TEIRAT I, O AA JHbI AT IIA6 @
BYIJ ATIIAT 2T

A1/2

B.1/3

c.2/3

D.7/10

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_nXcqbjY76Suu
https://dl.doubtnut.com/l/_6UN2beamfLgE

A. (2n(;n ) 2

B.2n¢,

C. ZnCn —|— ].

D. 2?’1,0” —1
Answer: D

° Watch Video Solution

371 + 21 + 3! + ... 11!- & 12 Tatg St BAA SIS 2@

A.9

B.8

C.7

D.6


https://dl.doubtnut.com/l/_6UN2beamfLgE
https://dl.doubtnut.com/l/_qAEhFDjnCUgZ

Answer: A

o Watch Video Solution

38. 7 5 FACIATG (consonant) 932 4 f6 SIS (vowel) ad

AP 3 6 FACNATIS (consonant) 8 2 6 SIETIS (vowel) I7d2ld

B JoBfeT X371 (@Y AT 218 Bel@) (o AT I, BIF ATt
3o

A. 24800

B. 25100

C. 25200

D. 25400

Answer: C

| e |


https://dl.doubtnut.com/l/_qAEhFDjnCUgZ
https://dl.doubtnut.com/l/_awbG8Pncy0u8

[ W Watch Video Solution ]

2 22 23 2n—|—1
39.%% S = TTLCO —|— 77101 —|— ?7?,02 —|— —|—

| ©F 20 S-97 FIF &

n—l—lnC”

2n—|—1_1
n—+1
3n+1_1
n—+1
3" -1
n

2" —1
n

A

B.

C.

D.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_awbG8Pncy0u8
https://dl.doubtnut.com/l/_Op4CsN8715VW

40. R >I¥F JBI WG OB 9 f:[—1,1] - R asf6

1
— 0
rsin— T # -
0 z =0

THS AT RT3 3 f(z) = { G5

A.[-1]] OIBAIAT f @7-99 GA9MT (Rolle’s Theorem) -a9
o3 g B

B. [-1,1] IBJITET ATISIANGT ILTHIA ST (Lagrange’s Mean

Value Theorem)-a3 Mo 3feT® Bid dE
C.[0,]] W34t f @1 -9 TI9mT (Rolle’s theorem) -9

o e dE@

D.[0,]] OIBQIteT f SATSIANET JGTHIA TAAMT (Lagrange’s

Mean Value Theorem) -a3 Mo 3fe] i1a I

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_gTAo6AenXW2s

41, abc IW Puaed gifoge W, © A
(log, a)z® — (2log, b)z + (log,c) =0 fggi®  NISIod
o fer 2e1

log. ¢
A. 1432 Be

log, a

log. c
B.1932 — Be

log, a

C.19Rlog, c

D.-1 9% log, a

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gTAo6AenXW2s
https://dl.doubtnut.com/l/_XKi8UtqRY2b6

42,265 SIA QPH0T WeT STOT(D2 SN, 716 I WDl 92w SE | 92

T 200 TiF S %% B, 110 TiH A6 A5% I, 55 T WA[DI

2w B | IM 60 TA SIIH 932 A J2% Bd, 30 & S 97q°

oIiBT A2 B BT 10 TH oAb SR doW B, ©f AA BLITQ

A5 932 BT 2w B AT FIE FeYTT 2

A.10
B. 20
C.30

D. 40

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PudlEvdsj2so

43.y = 3sin< T x2> ATHBI0d &I (range) 2T

Answer: C

o Watch Video Solution

1172
cos(t2)dt
44. lim Jo ,( ) -9g IR
£—0 rsin

A1l


https://dl.doubtnut.com/l/_qGd7NbklNhyl
https://dl.doubtnut.com/l/_NAgD4xm9GoE5

C.2

D.log, 2

Answer: A

o Watch Video Solution

45, f(x) 9B ABIBAATIST AEHEFD A2 f/ (4) =5 | ol
o f(4) = f(=?)
lim

T —2 Tr —

-AJ A

A0

B.5

C.20

D.-20


https://dl.doubtnut.com/l/_NAgD4xm9GoE5
https://dl.doubtnut.com/l/_U2nfi62Dglpi

Answer:

o Watch Video Solution

0 |
46.)  sin (77”27(;) a3 oPTE @TifSa @isise 2@
n=1

A T 0
‘Sm< 180) + Sm( 360) + Sm( 540)

B i T N T N T N T
'Sm<6) Sm(so) Sm(uo) Sm(%o)

T T
C. smE —|—sm% —|—51111—20 —|—sm% +Sm7TO
D. T T
sin 180 -+ sin 360
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_U2nfi62Dglpi
https://dl.doubtnut.com/l/_kSEuraarzbMD

47.19M 3 x 3 9T TGS (identity matrix) 27 932 P FTGET
I 197 BRI (columns) @A aFB AT
(rearrangement/permutation) -4 BT 38 27 Bl
A. P-a3 6 T5 feamst TR 932 det(P)=1
B. P-a4 6 b feaas 58 a3 det(P) = + 1
C.P- 99 aIfgd T &I 9R AW TG IIDIO
RGBT (invertible) AT

D. P-a7 ABI4P FAMRI AR GO GH@ P ' =1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kqFR14XQZYCK

48.3M |z| < 127, 0W 2 a3 oPy @ aBIe
(1—2)(2— =)

23-9d M35t 3@

A —1/16
B.15/8
C.—1/8

D.15/16

Answer: B

° Watch Video Solution

49, AOTH IBI eyt -9 ST
x 3 7 15
flz) = o7 + Eaﬁ + gm‘?’ + Iw“ +... WA f(x)=0

MR TS


https://dl.doubtnut.com/l/_LPl0gGIfOYE3
https://dl.doubtnut.com/l/_74FzDKXiNEXy

A. (P14 IBI THIGIF (Real solution) (@R

B. B 432 (BITdIg 9B6 IBI AJIYIF WIS

C.7{b 932 (@JTqIa WG IBI NI WA

D. TP T 1B AT WIS

Answer:

o Watch Video Solution

21 40 65

8
50. 1+ =+ —+—+—+..

21 3! 4! 5!
(I5TPpeT S e

A S <8

B.S > 12

C8< S <12

a3 Py Gieg


https://dl.doubtnut.com/l/_74FzDKXiNEXy
https://dl.doubtnut.com/l/_c1Hhp3YFbrve

D. S=8

Answer: C

o Watch Video Solution

51. x T IV YT 2T, [x] 2eT Jaad JINYTT (greatest integer)

2
T x OIS (216 IO TAF | lim i -93 JIH 2T

n— oo n
A.0

B.2

D. 1

Answer: C

| o war_ao_L vl _ e~_1__0°_



https://dl.doubtnut.com/l/_c1Hhp3YFbrve
https://dl.doubtnut.com/l/_jxnvkXo5zb5Q

L vvallll viUcO o0IUuLioIll )

52, 9df TP f(x) 997 9B6 WIIRAAWSHT (differentiable)
OIS (function) & f/(a:) WHEHB6 TBG (continuous),

F1(0) = 1a7e f//(0) T IfBg (B | g(z) = = f/ (x) e

A g/ (0)-T@IfBg @3

B.g/ (0) =0

C.g/(0) =1

D.g/ (0) =2
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jxnvkXo5zb5Q
https://dl.doubtnut.com/l/_rBkkUU23hQ9Y

53. 41 TP 2, SIS B (Argand plane) 9Bb 9FB IIOILT

J@d T97 oRfEe aBib 37 v, (@ Jad @@ Jerfdyo ade

21 # +1 | P J@ 97 9fied HIoK edoaE orfEe

foAfS 09 21, 29, 23 9BID IS fagst IO B | O AT 242923
S RIGEGE!
2
A 27
3
B. 2}
4
C. 2]

D. 21

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gPxyzcZGD3MF

54. 4T AP 24, 29, 23 WIIKSNTIT ©CeT (Argand plane) 9B TS
f@god  (equilateral triangle) foAf6 MEf™ | IW
1, _
a=5(v3+i) aR B #0 aBf6 Tbel N 27, O GHi@
az + B, az + B, azy + B
A. 936 e fagrod foaft ey,
B. 9310 MAG1® fagow (isosceles) foAfs Aafv;

C. ™

D. 931G fIFFAID (scalene) fagrow forlt *fay;

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nABdqGNsHuqi

55.y = (cosz + y)'/? TR @ oBada ST g

W CI6 2
2 2
Y dy
A(2y—1)$+2(%) +cosz =
d*y dy \’
B d_m2_2y<%> +cosz =0
d? dy\”
C(2y—1)—g—2<—y) + cosz =
dx dr
d’y (dy\’
D.(2y — 1)—= — (== =
(2y )dac2 (dw) +cosz = 0
Answer: A

o Watch Video Solution

56. BIIFSTIS B(et (Argand plane) 1 + z + 2% + 2% = 0 (z 9316
Sbel eulTh) TP JAP Aol @ ahrag Ml Ao

P, ©f 27


https://dl.doubtnut.com/l/_xcJhixYGBeci
https://dl.doubtnut.com/l/_F70DGYTJ5S0b

A. 93156 Is(CHa
B. 93(G 4T fagst

C. a6 7N (rhombus)

D. K6 WiToGEHa

Answer: B

o Watch Video Solution

57. ABC fagto| AB,C @IIBfaT fFdio IRl IWFE abc |
of A a’sin(B — C) + b*sin(C — A) + *sin(4A — B) <
BIGKEIG]

AO

B.1


https://dl.doubtnut.com/l/_F70DGYTJ5S0b
https://dl.doubtnut.com/l/_H0mNfbhxsT1s

C.3

D. 2

Answer: A

° Watch Video Solution

58. 4T TP 22 — 2 — 1 = 0 TN AGBfe a, 8 92 TIF

OGS YT n > 1-a9GAHY S, = " + B" | ©F (T oS 3T

n > 2 -49 3HT AT &Y

AS,+ S,_1= Sn+1

B.S, — 5,1 = Sn+1

C.S-1= Sn+1

D. Sn + Sn—l — 2S’n+1


https://dl.doubtnut.com/l/_H0mNfbhxsT1s
https://dl.doubtnut.com/l/_RCYq3F1CJ5oN

Answer: A

o Watch Video Solution

59. aB6 NMHACHAT AOIF 2HI@ 12 I T 261 | ©f AA

HOTHI6 B 2 JIF B AT TISTIT TRIAT 2T

12!
A.
616162
212
B. ——
(2°)(6")
12!
26 « 62
5 12!
) 62612

C.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_RCYq3F1CJ5oN
https://dl.doubtnut.com/l/_IvQSaz8bLCnM
https://dl.doubtnut.com/l/_c3frva68hT8c

60. 22 + pz + ¢ = 0 fA9Io STHBAIT FT3feT IW o R B 7,

Ol a® 4 B2 9 at 4+ o?B? + 497 TABT IV 2

A. 3pq — p® 932 p* — 3p?q + 3¢°
B. —p(3¢ — p*) 9 (p* — q) (p* + 39
C.pg — 4 93 p* — ¢*

D.3pg — p* aR (p* — q) (p* — 34)

Answer: D

o Watch Video Solution

d 1
6. =L Y ~ gt TIGAET TIG, y=1 T

dr  zlog.z =

x=e XGIGH 27



https://dl.doubtnut.com/l/_c3frva68hT8c
https://dl.doubtnut.com/l/_6I4LBHs9COhP

A 2y =log, = +
log, =

2

log,

B.y =log. =z +

C.ylog,z =log,x +1

D.y=log, x +e

Answer: A

° Watch Video Solution

62. 441 AP f(z) = max {z + |z|, 2z — [z]}, AT [x] TS
2

msxewmmx-aam@rammmm/ f(z)da
—2

aq qid 2e1

A0

B.5


https://dl.doubtnut.com/l/_6I4LBHs9COhP
https://dl.doubtnut.com/l/_QRE1SWvQcv3x

Answer: B

° Watch Video Solution

r+2 .+ 2
siIn“x + cosx
63./‘3 5 dr =

sin” x
A 3z cos +
. — ecxr + ¢
log 3
X
B.9 — cosecx + ¢
log 3

C.9(3%) — cosecx + ¢

D.O

Answer: B

| e~


https://dl.doubtnut.com/l/_QRE1SWvQcv3x
https://dl.doubtnut.com/l/_r93RHOyZYAVn

[ W Watch Video Solution

B. — —
s\l ) T
5
C 1 1 L)
" —x3 +c
3(,_ 1 r
D.—(1-— —
4< x3> +c
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_r93RHOyZYAVn
https://dl.doubtnut.com/l/_3dA7ow4b08if

65. (T FAaT AfSERA BIAIE (£ 8, 0) 93 AT el 24
9BF, BIF TIIPIT 2

A 3z% — y® = 48

B.4z% — y® = 48

C.z? — 3y’ =48

D.z% — 4y® = 48

Answer: A

° Watch Video Solution

66. 935 aId A16fb 2T Tad WiE, T 9B dd | 9B

Bitad &416d Sf5P Tad AT NB[AT 261 p, 0 < p < 1| OT MW

S Tadfb Al G, BT (T O Tpesi[ 9B Ga [6aibe M


https://dl.doubtnut.com/l/_69zaSCcQ4Gor
https://dl.doubtnut.com/l/_9ls9DVuJWGfd

| @t (5T (T =lafbd dug Gad Jfdd | OF GHta OF (T Sifdd Tad

O 536 M, O1R IBAIF NIRRT 2T

Answer:

o Watch Video Solution

2 4 6
67. cos 77r + cos 77r + cos 7% RG]

A.O

B. 0 8 3 a7 LT YTR


https://dl.doubtnut.com/l/_9ls9DVuJWGfd
https://dl.doubtnut.com/l/_MZwjtM3LidGz

C. Q6 HATaD YTt

D. 3 8 6 a9 (T YTP W

Answer: C

© Watch video Solution

o0 b
68. M / e~ (Tt sin(bt)dt = CIEGH
0

(s +a)’ + b2
e %sinbt GIT0 < t < oo MIANRGE WBH 99 GHaHd 2

b

A.—2
(s +a)

B.(s+a)® 4 b°

c b
" a2 + b2
2
D.

a? + b2


https://dl.doubtnut.com/l/_MZwjtM3LidGz
https://dl.doubtnut.com/l/_uZz8cM7M6mX5

Answer: C

o Watch Video Solution

10
69./ 10g<a+x)dw
~10 a—
A0
B.2loga

C.log2a

D. 2log(a + 10)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uZz8cM7M6mX5
https://dl.doubtnut.com/l/_chmBGxJOkkPm

70.2507 | 9087 GG HILT AT FIF 27

A 21—1/\/5
B. 21+1/\/§
c.2v2

D. 2

Answer: A

° Watch Video Solution

Si COS
7. [PRE ST arEAIE
3 + sin2x

A. T7T (reflexive) It dfosrg (symmetric) (PITATGR A


https://dl.doubtnut.com/l/_DmjlCcsbpPNs
https://dl.doubtnut.com/l/_G90o3vDXS9It

B.¥MT (reflexive) 92 O3 (symmetric) &g @
(transitive) 4

C. 9foTT (symmetric) 942 PT (transitive) &7 Fo1T
(reflexive) 9

D. 3B Mq@erTo! (equivalence relation)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_G90o3vDXS9It
https://dl.doubtnut.com/l/_mgQbQnIH5asY

Answer: D

° Watch Video Solution

73 1 10 21 34 49
'ﬁ—i_ﬁ—'_ﬁ_‘_ﬂ—i_a—'_ ......

©¥ dnt, e, lim ¢, 3@

n— oo

D. 1

Answer: B



https://dl.doubtnut.com/l/_mgQbQnIH5asY
https://dl.doubtnut.com/l/_hcqzFgy9UOZe

| § YVOILAIE VIVAGY SUIVGINIS J)

74. 936 PU AB AU IR dAMAId HIgA (positive
constant acceleration) A fd% (U@ B fIvo ¥ T Q@ | 44t
1B BT AAZD SISt v > 0 932 AB AR TV, P |
BTG53 sifowst P v v, 932 % ST vy (T

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_hcqzFgy9UOZe
https://dl.doubtnut.com/l/_109pqbWQxV3l

75. 52 16 O 936 siaell fafde a7ed @A 5 6 o

ARSI Qettel A8 Y (NPT AT 936 210 | 96 (AP

(LTI 2AE foATD Bt BEd i JFIF 932 JfF 7fG BICK Oled

JIAS STF (TIA 2 15 5o @i 3 16 Mited @At 2 5 Gt @i 3

{6 fafd), 9% IBAIK STRIIAT 7T

6
4165

23
4165

1797
" 4165

1

D 4165

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0aJULr5jO3nR

sin’(7x)
763 f(z) = .o /(f(a:) + f( = 2))de =
7T$
Az —+c
5 ? cos(mx)
T T €
@ sin(27x)
2T T4 €
sin(3mz)
D + ——— +c¢
4z
Answer: C

° Watch Video Solution

77.y = [|sinz| + |cos z|] 932 2? + y* = 10 ISWYIFII (="
Ao (@I AT 2eT (U [x] 26T SIHAS QIS YT T JiA

x-a9 (6 (®I% I FHIA)


https://dl.doubtnut.com/l/_ID3t43pHrG0p
https://dl.doubtnut.com/l/_Y10mxp1KMST4

A.tan" '3
B.tan"!( — 3)
C.tan™',/3

D.tan"'(1/4/3)

Answer: A

o Watch Video Solution

log, 5 /e
78. da: R RICIGERIB Y]
0 e’ + 3

A3+ 2m
B.4—m
C2+4+m

D.2 —7


https://dl.doubtnut.com/l/_Y10mxp1KMST4
https://dl.doubtnut.com/l/_Pf9Aeai12Y69

Answer: B

o Watch Video Solution

79. & WP 2+ +2zx+2fy+c=0 Jao
2 +y?—-5=0,z24+y>—8 —6y+10=0 a3e

~—

2 +y’ —de+2y—2=0 I3 foAl6@ B I a7

Ao (@F B | of T
A .c=5
B. fg = 147/25
Cg+2f=c+2

D. 4f=3g

Answer: D

| e~ |


https://dl.doubtnut.com/l/_Pf9Aeai12Y69
https://dl.doubtnut.com/l/_OQYN3MAQiGfg

[ W Watch Video Solution ]

80. 1[G TBAT A @ B UGIA MEIAAT YIS P(A)=0.7 932 P(B) = 0.6 |
©f 2(eT BIqI78 fHATT Sf % (3feT) 2e1

A.P(ANB) =0.35

B.P(AN B) = 0.45

C.P(ANB) =0.65

D.P(AN B) = 0.28

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_OQYN3MAQiGfg
https://dl.doubtnut.com/l/_ms0qV6YoGR0T

